
SAP ABAP table TZD0B {Darwin: Customer default values per co.cd/trn.type for KNB1}

TZD0B

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

GSART [CHAR (3)]

MAHNA [CHAR (4)]

BUSAB_MA [CHAR (2)]

ZUAWA [CHAR (3)]

BUSAB [CHAR (2)]

AKONT [CHAR (10)]

ZAHLS [CHAR (1)]

ZTERM [CHAR (4)]

VZSKZ [CHAR (2)]

FDGRV [CHAR (10)]

XAUSZ [CHAR (1)]

TOGRU [CHAR (4)]

HBKID [CHAR (5)]

ZGRUP [CHAR (2)]

MGRUP [CHAR (2)]

SKB1

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

SAKNR [CHAR (10)]

 TZD0B-AKONT = SKB1-SAKNR 
0..N

0..N

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 TZD0B-BUKRS = T001-BUKRS 
0..N

1

T001S

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

BUSAB [CHAR (2)]

 TZD0B-BUSAB = T001S-BUSAB 

0..N

{0,1}

 TZD0B-BUSAB_MA = T001S-BUSAB 0..N

{0,1}

T008

MANDT [CLNT (3)]

ZAHLS [CHAR (1)]
 TZD0B-ZAHLS = T008-ZAHLS 0..N

0..N

T012

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

HBKID [CHAR (5)]
 TZD0B-HBKID = T012-HBKID 0..N

0..N

T035

MANDT [CLNT (3)]

GRUPP [CHAR (10)] TZD0B-FDGRV = T035-GRUPP 0..N

0..N

T043G

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

TOGRU [CHAR (4)]

 TZD0B-TOGRU = T043G-TOGRU 
0..N0..N

T047A

MANDT [CLNT (3)]

MAHNA [CHAR (4)]

 TZD0B-MAHNA = T047A-MAHNA 

0..N

1

T047R

MANDT [CLNT (3)]

MGRUP [CHAR (2)]

 TZD0B-MGRUP = T047R-MGRUP 

0..N

0..N

T048K

MANDT [CLNT (3)]

XAUSZ [CHAR (1)]

 TZD0B-XAUSZ = T048K-XAUSZ 

0..N

0..N

T056

MANDT [CLNT (3)]

VZSKZ [CHAR (2)]

 TZD0B-VZSKZ = T056-VZSKZ 

0..N

0..N

TZGR

ZGRUP [CHAR (2)]

 TZD0B-ZGRUP = TZGR-ZGRUP 

0..N

0..N

TZPAB

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

GSART [CHAR (3)]

 TZD0B-GSART = TZPAB-GSART 

0..N

1

TZUN

ZUAWA [CHAR (3)]

 TZD0B-ZUAWA = TZUN-ZUAWA 

0..N

0..N


